ME=R No.1
BRIRA Z2E g B | BU%E | £EH=E & =
1B E A
RERERKEHRZRLT |BEEF)IFLVE (ZEE) L=8.50m ¢ 150 m 17.7
HE#F (EFTILAR) @ 150 x 45° & 4
" @ 150 x 90° & 1
IHARMF (SUS LKFiEEHMED) ¢ 150 #H 1
N &
%m§§;y$§i1§§EFl;bﬁgo° ) $150x 675 fE !
S e b &) ¢75 i ‘
PE 3A> bk ¢ 150 & 2
AHBISOUEE RUER) ¢ 150 & 1
IS TBFH 150 #H 1
AHEVENE (KR4S R IR ER 1) & 200 & 2
ZDEIBRR R L R ER (KRZ) ¢ 200 & 2
BR—b W=150S m 16.4 2.8+2.45+0.685+2.2+1.39+6.13+0.72
ERARET SRERF (TR R—ILFA) ®25 & 1 HRiBEHN—F
HUIHFZET FEKTEEYIN-MEYI 4T (S8 ER) $ 200 % ¢ 150 H 2
KI5 (B ER) ® 200 £ 2
o= H=1200 #H 4
2ARERIKERE(EEND
RERERKEHRZLT |BEEFNIFLVE (ZEE) L=8.50m ¢ 150 m 25.7
HEHRF (EFT/LR) @ 150 x 90° & 4
S #ETF (EFY 4y hx24E) $150% @75 # 1
= MEACEY—E2 Y
R ¢ 75 # ‘
EX e B (SS400;AR T SN Ay ) #A 11 SEEE:30ke/H
EIFHRET SREKF (TSR KR—ILFHA) ®25 & 1 RiBHN—F
KEBHRET IKEFEFHIHT (SS400- F&EE L) = 1 AIE XA -BEEXK - Toh—HRILFET




MR No.2
BRIRA Z2E g B | BU%E | £EH=E & =
SARRABRIRLE (B LLER)
RERERKEHRZRLT |BEEF)IFLVE (ZEE) L=8.50m ¢ 150 m 50.8
HEM#F (EFT/LR) @ 150 x 45° & 1
17 ¢ 150 X 90° & 2
R F (EFV4vk) ¢ 150 & 2
SIS #EF (EFY 4y hx2{E) d150% p75 #H 1
T MEACEY—E2 Y
L e e k&) ¢75 # ‘
EX LS BEA(SSA00FRLTEAAYF) #A 18 SEEE 65ke/Hl
EX L EA (SS400;AR IR A V) #A 1 SEEE 65ke/Hl
EX L BEA2(SS400;AF TSR AV ) #A 1 SEEE 65ke/Hl
EX L EB(SS400;3RETE A AYF) #A 1 SEEE 65ke/Hl
EX L EC(SS400;ARE A AV ) # 2 SEEE 8.4ke/Hl
IR EE 2B (SS400; AR E $A AV ) #A 1 SEEE:37.3ke/Hl
I K E E 2 B Q) (SS400; AR E $A AV ) #A 1 SEEE:36.6ke/Hl
ERARET SBREKF (TSR KR—ILFHA) @25 & 1 1RBHN—1
4387 )1 32 0h - SR ERED
REKERRLT |BEENIFLVE(ZEE) L=8.50m 150 m 152.2
HEH#F (EFTILAR) ¢ 150 x 45° & 2
FRESF (EFVvR) 150 & 15
BRI —b W=150S m 34.0 MEERE SR




FIHE

No.1
BRIR A Z2E pizE vy B | H9HE TEHNE & =
1.BRER E R E

RERERKEMRL |RUTFLUERMET 150 m 17.7 9.48+8.24

RUIFLUERFI (REES) ®150 20 F | & 8

7 @75 2A#F 13 1

ANZALBFEIGGRIYER) $ 150 A 5

AN=HIIBF I (BHER) ¢ 200 a 4 EEH

RUZFLUELRT ¢ 150 a 23 2HhEXEOUEET

IJSUUMFT @150 a 2

EHRI—k m 16.4
ERARET ERARET 25 = 1

TSUUMFT b 75 a 1
TUIHFRET THOKTFERET (FEITFM) $200%x p150 | EEHFERF 2 ke

THIKEFERE T (FETF/E) ® 200 A 2 HE R

RERET H=1200 #H 4

BEXE o4 4
BT SEHAA AB 20 iR GEE E SRERIE. A HE

2{REBRKERE(EEND

REREEKERHZRLT | RUTFLUERERT $ 150 m 25.7

RUIFLUERFI (REES) ®150 208 F | & 6

7 @75 2A#F 13 1

RUIFLUEBRFIT (VB ES) 150 & T 2

EXHEAERET =) 11 SEEE 3.0keg/Hl
ERARET ERARET 25 = 1

TSUOMFT b 75 a 1
KEBHRET KEBHMEHTEST =] 2 AIE XA -BEEXE - ToA—RILMETFHEED
TE&HIT BETHIT X 1 RS

EFRTEI = 1 RS R




FIHE

No.2
BRIR A Z2E pizE vy B | H9HE TEHNE & =
BAREXIERIANE (ALLER)

REEBELKERBRT [RUTFLUEMRT (REEET) ® 150 m 50.8

RUIFLUERFI (REES) ®150 20 F | & 7
7 @75 2A#F 13 1

RUIFLUEBRFI \VERBEES) @150 AT 5
EXHEERET (EXHFEEAN a 18 SEEE 6.5ke/Hl
EXHEAERBEI(EXXHFSEA a 1 SEEE 65ke/H
EXHEERBEI(EXHEEA2) a 1 SEEE 65ke/H
EXHEAERBEI(EXHF2ER) a 1 SEEE 65ke/H
EXHEAEREBEI(EXHFLEC a 2 SEEE 8.4keg/H
EXHEERBETI(EXHSED) a 1 SEEE:37.3ke/H
EXHEERBETI(EXH2EQ) a 1 SEE S 36.6ke/Hl
&2 R FRE(BT-200) =| 4 Emi2B. XFEEEE2R
S[ERRT G 1 0.3MPa X 18RI R

ERARET ERARET 25 = 1
TSUOMFT b 75 a 1

43R )1132 05 - SRER &R

RERERKEMRL |RUTFLUEMET 150 m 152.2 56.22+62.02+34.00
RUIFLUERFI (REES) ®150 20 F | & 17
EHRI—k m 34.0
EKEERT | 0.1 195.6m/2000=0.098 (¥& 2 K2R ERFR<)




R

I # 7 Al pS o7 ¥ 8 Hf
[B=ETEI ]
r T
£ Al 1/2x(2.90 X 2.60+3.60 X 3.30) X1.20 = 11.65 117 m3
1/2 % (2.90 x 2.60+3.60 x 3.30) X 1.20~
b RERER 1.70 X 1.40 X 0.15 = 11.30 113 m3
2 11.65 = 11.65 11.7] m3
HEEF 1.70 X 1.40 = 2.38 24| m2
g
ERRA RC-40 t=100 1.70 X 1.40 = 2.380 238 m2
ERYP (1.704+1.40) X 2 X 0.05 = 0.310 031 m2
HEEEa ) —+ 0 28=18N/mm2 1.70 X 1.40 X 0.05 = 0.119 012 m3
#% B SD345 D13 AR HEELY 0.079 t
LU ] BEEEY (1.50+1.20) X 2 X 1.45 = 7.830 783 m2
Fixa2 1) —hk 0 28=24N/mm2 1.50 X 1.20 X 1.45 = 2.610 261 m3
[ EFTHI]
r T
£ Al 1/2x(2.30 X 2.00+2.70 X 2.40) X0.70 = 3.88 39, m3
1/2 % (2.30 X 2.00+2.70 X 2.40) X 0.70-
b RERER 1.7%1.40 X0.15 = 3.52 35 m3
2 3.88 = 3.88 39| m3
HEEF 1.70 X 1.40 = 2.38 24| m2
g
ERRA RC-40 t=100 1.70 X 1.40 = 2.380 238 m2
EHRYR (1.7041.40) X 2 X 0.05 = 0.310 031 m2
HEEEa ) —+ 0 28=18N/mm2 1.70 X 1.40 X 0.05 = 0.119 012 m3
#% # SD345 D13 BRETHEELY 0.041 t
LU ] BEEEY (1.5041.20) X 2 X 0.50 = 2.700 270 | m2
Fixa2 1) —k 0 28=24N/mm2 1.50 X 1.20 X 0.50 = 0.900 090 | m3




EE Biige | —ALzE | AR = o
(mm) (kg/m) (&) (kg) i

1500 0.995 1.49 18 26. 87
1450 0.995 1.44 18 25.97
1200 0.995 1.19 20 23.88
1500 0.995 1.49 2 2.99
79. 71
A 0.079
1500 0.995 1.49 10 14. 93
500 0.995 0.50 18 8.96
1200 0.995 1.19 12 14. 33
1500 0.995 1.49 2 2.99
41. 21
.21 0. 041

0.120




6150 EEFEPE AR K B (iR g g B DEURG % 2 |2 5 R S % T

UEE (m) DIxNF
& (m) Gk T
=] Poris Vo P
7 A B RO ERE o . [
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z-5 (OO (m)
1 2 EEPE 150 8.500 2. 800 2. 450 2. 200 0. 685 8.135 0. 365 4 1
(=g
{555 EEPE 150 8.500 1. 350 5. 520 0. 970 0. 580 8. 420 0. 080 4 {555 EEPE
1 2 EEPE 150 8.500 8.200 8. 200 0. 300 1
{555 EEPE 150 8.500 7. 650 0. 720 8. 370 0. 130 2 = 150
1 2 EEPE 150 8. 500 3. 370 2. 380 2. 300 8. 050 0. 450 3
15 %5 FEPE 150 8. 500 3.090 4. 200 0. 860 8. 150 0. 350 3 HHE[ 8.500
12 EEPE 150 8. 500 7.000 0. 980 7. 980 0. 520 2
{555 EEPE 150 8.500 3. 200 4,900 8.100 0. 400 2
12 EEPE 150 8. 500 1.230 1.390 2. 620 5. 880 2
5 76. 500 37. 890 22. 540 6. 330 1.265 68. 025 8. 475 23

76. 500 37. 890 22.540 6. 330 1. 265 68. 025 8. 475 23



) T I % 2 & & £
EEEEAs DCIP ¢ 200
THY 1.20 m MY 4 SEUY
&[] DCIP Dol | 200 220 A 600 A& R#&EIR [EE | 16.00 m
EhERE 0.038] E=nh 800 [ ®B | 50 [ ®E | 30
e BE | 100 | EE | 50 | #/®
HZi | 100 | EE [ 150 [ EE [ 220
FE | 150
TR | 500
| 600 | 800 |
HEHI : A8
50 ¢ RE RE HhiAs 50 {
50 H[E HEE  fHkiAs 50
] EREE =
RIERRER
e =
BERA
o DEES S
S 5 R
g g S 8
i e 4t S i
FERFY S §
§ SREFY S §
T b i & = | B it - =®
AsSBEEYIIR T t=15cmEl T 64.00 m |4x16.00 64. 00
t=10cmEL T 1R &#%E (t=3cm) 0. 600 x 16. 00=9. 60
AsEBEERREIE A T 1LIF5BHO. 28m3 44.80 m2 A& (t=10cm)2. 200 % 16.00=35. 20 44.80
EIEE - BIE
N TR EITEA T ILIFEBHO. 28m3 12.67 m3 0.600x1.320%16.00 12.67
HWHIER - &RE - 319 - SRR
BRT (AEFv ) | LFEBHO. 28m3 3.07 m3 |0.600x0.320x 16. 00 3.07
HWHIER - &RE - 519 - SRR
BRI (S£1) ILIEBHO. 28m3 1,92 m3 0.600x0.200x%16.00 1.92
BHO. 28%&3A - DT4t - DIDA L
ASEMRT L=8. 4km 3.81 m3 | (9.60x0.03)+(35.20%0.10) 3.81
BHO. 28%&3A - DT4t - DID% L
TRERT L=8. 4km 10.54 w3 12.67-(1.92/0.9) 10. 54
W=1. 8msk i
TRKRET t=50cm 52 9.60 m2 0.600x16.00 9. 60
W=1. 8msk i
TRKRET t=15cm HERE 9.60 m2 0.600x16.00 9. 60
HE W=1.8mkE
tE®ET t=22cm HIERE 9.60 m2 0.600x16.00 9. 60
BRI BLEE L)
i (REIBT) R®E EHE3om 9.60 m2 0.600x16.00 9. 60
BATHE GAHHY)
i (REIET) #®E =EiHEb5cm 3520 m2 2.200x16.00 35. 20
BARKE A HY)
i (REIET) H[E EiEScm 3520 m2 2.200x16.00 35. 20




@-1 T T % & it B8 =
EEHEEAs PEP@ 150
T#HY 1.20 m MEYE 4 FUY
RE%E | PEP Dcl @150 152.5 YR 900 A{EIH k&I | ER | 6.30
EETEE 0.018 2EMm 800 | k= 50 =E 30
amros BL | 100 | EE [ 50 | EfF
HEK 100 LE 150 LE 220
T 150
TE 500
900 | 800
R ; AEIR
50 =B RE FHiAs 50
50 HE EE HAiAs 50
' LBk g
PEARR ™
NEESH g
BERE —
o NEESH g
,@ IR B\,
B B B
2 2 AT S 3
HEFy S S
3 HEFyS 3
= ARFy S S
I & BO® HE | B H =1 =
AsEhZE U1 T t=15cmEL T 25.200 m |4%6.30 25.20
t=10cmLL T {R&H%E (t=3cm) 0. 900 x 6. 3=5. 67
AsEHEERREIZETEIA T 1LIF&BHO. 28m3 21.42) m2 AL (t=10cm)2.500x6.3=15.75 21.42
EIRER - HBE
N yhRoEEIFEA T 1LIF&BHO. 28m3 7.67 m3 0.900%1.353%6.3 7.67
WHIER - &E - 81y - BRMA
#BRET (AEFv )  LFEBHO. 28m3 2.00| m3 10.900%0.353x6.3 2.00
WHIER - & - 819 - BRMA
#BRET (%4£1) 1LI#&BHO. 28m3 113 m3 ]0.900x0.200x%6.3 1.13
BHO. 28%%3A - DT4t - DID% L
AsEEWT 8. 4km 1.75 m3 | (5.67x0.03)+(15.75x0.10) 1.75
BHO. 28%%3A - DT4t - DID% L
TEERT 8. 4km 6.41 m3 |7.67-(1.13/0.90) 6. 41
W=1. 8mk 5
TRERET t=20cm LS5 R 5.67 m2 0.900x6.30 5.67
W=1. 8mk 5
TRERET t=15cm BEWHET 5.67 m2 0.900x6.30 5.67
BHE W=1.8mkH
rRERET t=22cm HFRERE 5.67 m2 0.900x6.30 5.67
BARRE GELAEIZL)
#HiE(REIET) =E Hi#E3com 5.67/ m2 0.900x6.30 5.67
BEZHE GAEHY)
HEE (REIRT) KE Hi#bem 15.75 m2 2.500x%6.3 15.75
BAEHAE GEHY)
HEE (REIRT) HE HiE5cm 15.75 m2 2.500x%6.3 15.75




@-2 T T % & it B8 =
EEHEEAs PEP@ 150
T#HY 1.20 m BTy 4 &9V
REE] PEP Dol | 150 152.5 Al 600 AR ] [ EE | 8. 20
EETEE 0.018 2EMm 800 | k= 50 =R[E 30
amgool_BL | 100 | B 50 | EE
HEK 100 | £/ 150 | £/ 220
T | 150
TE 500
600 | 800
R ; AEIR
50 =B RE FHiAs 50
509 HiE HE fHAIAs 50
- LBk o
PEARR ™
T Bk =
BERE —
o T Bk g
g PSR )
B B B
2 2 AT S 3
HEFy S S
3 BTy T 3
= ARFy S S
I & B]oO® HE | B H =1 =
AsEhZE U1 T t=15emLLF 3280 m |4x8.20 32.80
t=10cmLLF {R&H%E (t=3cm) 0. 600 x 8. 2=4. 92
AstHZE R EIRTEIA T LLIFBHO. 28m3 22.96] m2 | AL (t=10cm)2.200x8.2=18.04 22.96
EIRER - HBE
Ny R EITEA T 1LIF&BHO. 28m3 6.66] m3 0.600x1.353%8.2 6. 66
WHIER - &E - 81y - BRMA
#BRET (AEFv )  LFEBHO. 28m3 1.74 m3 ]0.600x0.353%8.2 1.74
WHIER - & - 819 - BRMA
BRI (R£1) LLIFBHO. 28m3 0.98 m3 |0.600x0.200x8.2 0.98
BHO. 28%%3A - DT4t - DID% L
AsEEWT 8. 4km 1.95| m3 | (4.92x0.03)+(18.04x0.10) 1.95
BHO. 28%%3A - DT4t - DID% L
TENERRT 8. 4km 5.57| m3 |6.66-(0.98/0.90) 5.57
W=1. 8msk 3
TRERET t=20cm LS5 R 492/ m2 |0.600x8.20 4.92
W=1. 8msk 3
TRERET t=15cm BEWHET 492/ m2 |0.600x8.20 4.92
B/iE W=l 8mkiE
rRERET t=22cm HARE 492 m2 0.600x8.20 4.92
BARRE GELAEIZL)
#HiE(REIET) =E Hi#E3com 4,92 m2 0.600x8.20 4.92
BEZHE GAEHY)
HEE (REIRT) KE Hi#bem 18.04 m2 2.200x8.2 18. 04
BAEHAE GEHY)
HEE (REIRT) HE HiE5cm 18.04 m2 2.200x8.2 18. 04




©) T I % E & & £
E&%EAs PEP @ 150
+#Y 0.70 m BEYM 4 FYY
IRZE[ PP Dol | 150 152.5] @AM 900 X7EIH EEE [EZEX ] 1.90 m
EWEn 0.018] E=m 100 | &FE [ 40 | == | 30
o] BE | 100 | EfE FE
EHpk | 100 | T/ | 100 | Fm@ | 110
900 100
| | |
HEHI ; A8
40 =E | &E ZHiAs | 40
5 B 100
BERA
S
~ o
™ ™ FHET g ™
K > K
""""""""""""" FEFVT S
3 HEFy S 8
s~ mEFyT S
I & % wE | B st S E2y
AsEHELIITT t=15cmLF 7.6 m 4x1.90 7. 60
t=10cmLA {R&H%E (t=3cm) 0. 900 x 1. 90=1. 71
AsEhZE IR EIEFEIAT LLIF&EBHO. 28m3 3.80 m2 |AZHE (t=10cm)1.100x1.90=2.09 3.80
EREE - BOE
N yhdotEEIFEA T LLIF&EBHO. 28m3 1.56/ m3 10.900x0.913x1.90 1.56
HWHIER - &E - 319 - SRR
BRI GAEFv ) LLIF&EBHO. 28m3 0.60 m3 |0.900x0.353x1.90 0. 60
HWHIER - &RE - 319 - SRR
BRI (¥4£1) LLIF&EBHO. 28m3 0.79] m3 |0.900x0.460x1.90 0.79
BHO. 28%&3A - DT4t - DIDA L
AsiEfE T 8. 4km 0.13) m3 (1.71x0.03)+ (2.09x0.04) 0.13
BHO. 28%&3A - DT4t - DIDA L
THNERRT 8. 4km 0.68 m3 |1.56-(0.79/0.9) 0.68
W=1. 8mkii&
BAET t=11lcm BERE 1.7 m2 |0.900x1.90 1.7
BRI (FLFIZ L)
M (REIRT) =®E ZHE3cm 1.7 m2 |0.900x1.90 1.7
BATHE AFHHY)
L (REIRT) =®E SHiEden 2.09 m2 [1.100x1.90 2.09
avy— FRET (B) 0.24] m3 (0.35+0.60) /2x1.00x0.50 0.24




@ + I % 5 i &
EMEME PEP ¢ 150
T#Y 0.30 m
RE&E[ PEP Dol | 150 152.5 I 600 [EE | 56. 20
EhERE 0.018
] &F [ 100
ARF v T B
BET R | 100
600
o
S REL S
[ 2 e Sttt s emme e — -
HEF YT S
% ---------------- S i %
g SREFY S g
N [T mEFYT S
I i Boo® WE | B =t %
CIE - BIE
N TR EITEA T 1LIFEBHO. 28m3 18.65 m3 0.600x0.553%56.20 18.65
HWHIER - &RE - 319 - SRR
BRT (AEFv ) | LFEBHO. 28m3 10.87 m3 0.600x0.353%56.20 10.87
HWHIER - 85T - 319 - SRR
BRT (4ET) ILI5BHO. 28m3 6.74/ m3 |0.600x%0.200x 56. 20 6.74
BHO. 28%&3A - DT4t - DIDA L
TRERT 8. 4km 11.16] m3 18.65-(6.74/0.9) 11.16




) T T % &8 & § &

FATJII3ZERS  PEP ¢ 150

+#Y 0.20 m
IREEE] PEP_ Dol | 4150 152.5] @+ fm | 600 [ & [ 62.00
ERER 0.018] @&+ Fr | 1305
ot
o5z | EL [0.20
600
§ VIR
[3e]
e D e A L
[3p]
§ IR

1305

|
I = RO® HE B4 it " N
TREEIE 83.70, m3 |1.350x62.00 83.70
Wit - BRI - A
gt 1L175BHO. 28m3 20.82 m3 (0. 600+1. 305) /2x0.353x62.00 20. 82

EEER BLikm 61.82 m2 0.353x1.414x2x62.00 61.82




® + T % = &t E &
ThiAs PEP ¢ 150
+4#Y 0.60 m SV 4 £YY
IREZE] PEP_ Dol [ 4150 152.5]  ¥maIm 600 A&EIR &R [ER [ 3400 m
EEER 0.018] E®m 100 | & | 40 | &= | 30
o] BE | 100 | EE [ 70 | Em | 80
5 | 100 | R/ | 100 | FFE | 100
| 600 | 100 |
HEH i AEIH
40¢ =B | ®E #iAs | 40
; LERREE o
RERRR ™
EE =
BERE =
o
8 o
2 5 fekt I
HEF YT S
3 AEFY T 3
§ HEFy T §
I B’ ]o% BE  EfE EI %
AsERZELIIT T t=15cmA 136.0 m 4x34.00 136. 00
t=10cmA &%k (t=3cm) 0. 600 x 34. 00=20. 40
AsEHERREURTEIA T LLIF5BHO. 28m3 47.60 m2 | AEHLEE (t=4cm)0. 800 x 34. 00=27. 20 47. 60
EWEE - %
N yIREEIFEA T LLIF5BHO. 28m3 16.59 m3 |0.600x0.813x34.00 16. 59
HWHIER - 85 - B9 - BRMA
BRI GAgFv ) LLIF5BHO. 28m3 7.200 m3 |0.600x0.353x34.00 7.20
HWHIER - 85T - 39 - BRMA
BRI (F&EL) LLIF5BHO. 28m3 5.92. m3 0.600x0.290x34.00 5.92
BHO. 28%&3A - DT4t - DIDA L
As:E#fk T 8. 4km 1.700 m3 | (20.40x0.03)+(27.20x0.04) 1.70
BHO. 28%&3A - DT4t - DIDA L
TREWRT 8. 4km 12.06/ m3 |16.59-(4.08/0.9) 12.06
W=1. 8m=k i
TREREL t=10cm HBERE 20.40, m2 |0.600x34.00 20. 40
BHE W=1.8mkiH
LERET t=8cm HIFFAFEA 20.40, m2 |0.600x34.00 20. 40
B (LA L)
& (REIETD) *=E Hi&E3cm 20.40, m2 |0.600x34.00 20. 40
BETHE AAHBHY)
i (REIETD) *=E Hi#dcm 27.20, m2 |0.800x34.00 217.20




MR

BRIRA Z2E g B | Z9%=E | £E%HE=E & =
kBT

HBKEMEZRT HAKAR)IFLUE L=5.00m ®30 P 2
YRV KE BERER) 200 ¢ 30 & 1
BEIT ®30 & 1
A=AV (EFY Ty MMT) $30 & 1
EFV4 vk ®30 & 1
EF45° T)LR ® 30 1& 2
RUIFLUNAT(158) 2BE ®30 m 50.0
BEREERASKXF—X ®30(P)x p25(V) | & 1
" ®30(P)x p20(V) | & 1
EEERASKXY vk ®30(P)x p20(V) | 1& 1

HiVP  L=4.00m ® 25 x 1 0.6m

" ¢ 20 V. 2 6.0m
HiT /LA 25 1& 2
" ®20 & 4
BRI —bk W=150S m 62.6
TUIHFRET HRELTHF ¢ 30 & 1
BRLAVTIS A2a7/#EYER) ¢ 30 & 1
HRCHVryrPPER) ¢ 30 & 1
o= H=700 # 1




FIHE

BRIR A Z2E A& B | H9HE TEHNE & =
HwAKOET
HBKEMET RUIFLUERKRT ®30 m 57.1 50.0+7.1

RUTFLUERFT (RIEES) ®30 10O0#F O 1
17 ¢ 30 2A#F 13 3
RUTFLUEYERT $30 a 4
YRV KEFRET (BHER) ©$ 200 % ¢ 30 & 1
MENOFEERLAAES ®30 i 1
E-—ILEMRT @25 m 0.6
" ¢ 20 m 6.0
TS#FT 25 a 4
" $20 a 8
RUIFLUEHRTFT 30 a 5
" 25 a 1
" 20 a 2

BRS—k W=150S m 62.6 50.0+7.1+4.0+1.5
TUIHFET TOIHFET 30 H 1
MENOFEERLAAES ®30 i 2
RUIFLUEHRTFT 30 a 2
RERET H=700 #H 1
BERE ® 1




WEFE TR A AT D FUKE B TH

¢ 30 F5/KHPE b Bk
UEE (m) DIxNF
7% (m) giwr T
= Poris Vo =
& E M 'O ERE 2 g . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 | %7K HPE 30 5.000 2.900 1. 000 0. 500 4,400 0. 600 3 1
(=g
2 | #7KFAPE 30 5. 000 2.700 2.700 2. 300 1 %5k FIPE
= 30
HEE|  5.000
5 10. 000 5. 600 1. 000 0. 500 7. 100 2.900
10. 000 5. 600 1. 000 0. 500 7. 100 2.900 4




@ + I % 5 i &
EHEHE #RK 030
TH#Y 0.50 m
#KE] PEP Dol | 930 42 HEEI 600 [EE | 54. 40
EWTEE 0. 001
] &F [ 100
ARF v T B
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